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This Test consists of Two parts.
Part | — Mental Ability Test.

Part Il - Scholastic Aptitude Test.
This question paper is for part - |
Mental Ability Test. Time allotted to
answer the questions in this part (1
to 90) is 90 minutes. Marks to this
part is 90.

To answer part | and Il only one
OMR Answer Sheet is provided.
Answers to this part to be shaded
in the appropriate box in “Part |
Mental Ability Test” portion, using
Blue / Black ball point pen.

Write your Roll Number as given in
your admission card. (Centre Code
No. and SI.No.) very clearly in the
question booklet and in the Answer
Sheet (Only one digit in one box)

For example, a student appearing
from Centre Code No. 0102 with
SI.No. 006 will have to write the
Roll No. as follows.

Roll No.
Centre Code No. SI.No
0|1|0]2 olols
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Other Instructions

Read Carefully

. Write only candidates Name and

Roll.No. in the space provided in
the Answer Sheet and affix your
signature.

. All questions are compuisory.

Since the time allotted to answer
is very limited, you should make
the best use of it, by not
spending too much time on any
one question.

. Choose the correct answer from

the options given for each
question and shade the
corresponding box with blue /
black ball point pen, in the
answer sheet.

. In the Answer Sheet if you shade

more than one answer number
or if you overwrite or delete the
answer number, no mark shall
be awarded to that answer.

. Two blank sheets have been

provided at the end of the
question bookiet. Use it for
rough work. Answers on these
pages will not be considered for
Valuation.

. In future for correspondence, if

any, quote your Roll No.
(Centre Code No. and Serial No.)
without all.
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(1) Blue (2) Green
(3) Orange (4) Pink
(1) Asia (2) Europe
(3) Australia (4) India
(1) See (2) Hear
(3) Smell (4) Think
(1) Uncle (2) Nephew
(3) brother (4) Niece
(1) JOT (2) OUT
(3) FED (4) DOG
(1) 11 K (2)17Q
(3)3C (4)8H

(1) STUA (2) RQPA
(3) MLKA (4) HGFA

afliyeop (eflerr sredr 8-14)

geuCans aflemaigih CasrafléeEs
@ sfeven, Qan@éaiu’ Gster 4 wrHg
deo_saldois Coibes0ss Hempey
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GO pH&L Ulebreer SjemLouyih
QUM Gengs(emid ojsmiow CaismrHi
Chimney : smoke : : GUN : ?

(1) fire (2) bullet

(3) death (4) army
DDA : ADD :: RRB: ?

(1) RBR (2) BRB

(3) BRR (4) RBB
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Direction (Questions 1-7)
Choose the word which is least
like the other words

(1) Blue (2) Green
(3) Orange (4) Pink
(1) Asia (2) Europe
(3) Australia (4) India
(1) See (2) Hear
(3) Smell (4) Think
(1) Uncle (2) Nephew
(3) brother (4) Niece
(1) JOT (2) OUT
(3) FED (4) DOG
()11 K (2)17Q
3)3C (4)8H

(1) STUA (2) RQPA
(3) MLKA (4) HGFA

Direction (Questions 8 — 14)

There is a question mark in both
questions in which only one of the four
alternatives given under satisfied the
relationship as in found between two
terms on the other side of the sign : :

Chimney : smoke : : GUN : ?

(1) fire (2) bullet
(3) death (4) army
DDA : ADD ::RRB:?

(1) RBR (2) BRB

(3) BRR (4) RBB
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14.
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India : President : : State : ?
(1) Prime Minister (2) Governor
(3) Chief Minister (4) Mavor
Eyes : Tears : : Volcano : ?
(1) Lava (2) Heat
(3) Water (4) rock
12:169::14: 7
(1) 196 (2) 144
(3) 225 (4) 121
27 s 642
(1) 16 (2) 32
(38 (4)4
CD:34:: JK:?
(1) 1110 (2) 910
(3) 1011 (4) 119
aufipenm (efler sreter. 15-18)
Caréssiu’ L wphmeasenéses

&&hsuy aflamLwsfléEsay.
'REMOTE' sréirugsnar ‘ROTEME’ st
G Lmsd PICNIC ssiugenar @filé@th
aflgib
(1) PNIICC (2) PCINIC
(3) PCIINC (4) PICNIC
‘479’ eraugy ‘fruit is sweet’ ersitgud
‘248’ srsirugl ‘very sweet voice’ steirgud
‘637" ereirugl ‘eat fruit daily’ ersirgud
GHOA LT ‘is’ srerughE iy GHie
(2 2)4
37 )9
‘MAN’ STEITLIG 0T ‘OCP’
sars@iidlLLTd  ‘BOY’  erdrugsner
Gfbei algi
(1) DQZ (2) DQA
(3) CPZ (4) AQD
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India : President : : State: 7
(1) Prime Minister (2) Governor
(3) Chief Minister (4) Mayor

Eyes : Tears : : Volcano : ?

(1) Lava (2) Hesat
(3) Water {4) rock
12 : 169 :

(1) 156 (2) 144
(3) 225 (4) 121
272964 7

(1) 16 (2) 32
(3) 8 (4) 4
CD:34:: JK:7?

(1) 1110 (2) 910
(3) 1011 (4) 119

Direction (Questions 15 — 18)
For the given situations, choose
the correct option.

REMOTE is coded as ROTEME.

PICNIC is coded as
(1) PNIICC (2) PCINIC
(3) PCIINC (4) PICNIC

‘479’ means ‘fruit is sweet’ ; ‘248’
means ‘very sweet voice’ and ‘637’
means ‘eat fruit daily’. The digit for
‘is’ is

(12 (2)4

(3)7 4)9

‘MAN? is written as “OCP’ then
‘BOY’ is written as

(1) DQZ (2) DQA

(3) CPZ (4) AQD

e I —— s
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34" aeiugy “They are well” ersimgyid
738" ereirugl ‘they go home’ swsirgiih
869° srébrug ‘We are home' ersigh
SOHLALLT ‘go’ seimugiefu @iuiE
(1) 7 2)3

(3)8 41
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‘134’ means “They are well” *738’
means ‘they go home’; ‘869° means
“We are home”. The word ‘go’
represents the digit

(1) 7 (2)3

3)8 4)1

Direction (Question 19, 20)
Read the content, sease the

direction and answer the guestions 19
and 20.

A man is facing East. He turns 45° in
the clockwise direction and then
another 180° in the same direction and
then 270° in the anticlockwise
direction. Which direction is he facing
now?

(1) South

(3) South East

(2) North East
(4) North West

A man is performing yoga with his
head down and legs up. His face is
towards West, In which direction will
his left hand be?

(1) South
(3) East

(2) North
(4) North East

Direction (Questions 21-23)

In each question the numbers
are arranged in a sequence based on
certain principle. Select the answer
from the four alternatives given under
each sequence for the term marked by
the Symbol (‘7).

1120477
(1) 91 (2) 101
(3) 111 @) 121
5,7,10,15,22,7 ........
(1) 31 (2) 33
3) 35 4) 37
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24, 27, 31, 33, 36, 39

(1) 24 (2) 31
(3) 36 (4) 39

8, 15, 24, 37, 48, 63

(1) 15 (2) 24

(3) 37 (4) 63

afiemp (26-30)
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ML LT T
(1) 34
(3) 30

Direction (Questions 24 — 25)
Find the wrong terms in the
series.

24,27, 31, 33, 36, 39

(1) 24 (2) 31
(3) 36 (4) 39
8, 15, 24, 37, 48, 63

(1) 15 (2) 24
(3) 37 (4) 63

Direction (26-30)

The diagrams and the numbers/
letters follow certain principle. Fine
the missing number / letter indicated
by question mark (‘?°)

D@E

(1) 56 (2) 22
(3)23 4)1
5 7] o
L-i n| ? I § || 3 818 1
il 2 n
(17 (2) 4
(3)3 (4)8
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A B 12
E e 58
I | H 98

2)J
@ G

(2) 16
(4) 17

(1) 78 (2) 88
(3) 98 (4) 108

auflipsnm (@fleorm stetor, 31-35)
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(1) 6 2)3

(3)7 (4) 4
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(2) 40

(3) 60 (4) 50
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[l 98

MH @

3)F 4)G

1) 20 )16

3) 19 )17
1 g

it sabsanaal can ol
1 )

(1) 78 (2) 88

3) 98 (4) 108

Direction (Questions 31-35)

Identify the most appropriate
alternative among the given four
alternatives.

“Two boys in front of a boy, two boys
behind a boy and a boy between two
boys”. The smallest number of boys
for the above formation is

1) 6
3)7

2)3
(4)4

A father is, at present, 2 and half times
as old as his son’. Five years back he
was three times as old as his son. The
age of the father is.

(2) 40
(4) 50

(1) 45
(3) 60
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(1) 50 (2) 30
(3)40 (4) 60
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(1)6 (2) 4
(3)2 4)8
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@i wmppiuL. Gaismpwme 37.

(1)4+8-12=16
(2)4-8+12=0
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In a group of cows and hens, the
number of legs are 40 less than four
times the number of heads. The
number of hens is

(1) 15
(3) 20

(2) 30
(4) 35

In an examination, a student scores 3
marks for every correct answer and
loses 1 mark for any wrong answer. If
he attempts all 80 questions and
secures 120 marks, the number of
questions she attempted wrongly, is

(1) 50
(3) 40

(2) 30
(4) 60
The unit digit of (194)**is

(1) 6
(3)2

()4
4)8

Direction (Questions 36-37)

In each of the following
questions if the interchanges are made
in signs and numbers which one of the
four relations would be correct?

Given interchanges :

signs: —and~+
numbers: 4 and 8
(1)6-3+4=-1 (2)8-6+4=1
(3)4 +8-2=6 (44-8+6=2

Given interchanges :
Signs :+and -
numbers : 4 and 8
(1)4+8-12=16
(2)4-8+12=0
(3)8 +4-12=124
(4)8-4+12=8
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112=32; 4x3=T712; 4x7=1128 38.

Fai0 Tx3=

1) 1021 (2) 2110

(3) 1010 (4) 2121

1=3=89; 3+4=2716; 39.
1-3=0649saflo1+2=

(1) 81 (2) 14

(3)12 (4) 18

Sx9=144; 7x8=151, 40.
4x6=102etefléb 2x8=

(1) 106 (2) 168

(3) 1610 (4) 1616

auflpsop (afleor ereor.41-50)
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Direction (Questions (38-40)

In each of the following
questions, three statement of numbers
following same rules are given. Find
the rule and accordingly find the value
of the required statement.

If1x2=32;: 4x3=712; 4x7=1128
then 7x 3=

(1) 1021 (2) 2110
(3) 1010 (4) 2121
If2+3=89; 3+4=2716;
4+3=649 then1+2=

(1) 81 (2) 14
(3) 12 (4) 18

If5x9=144; 7x8=151,
4x6=102then2x8=

(1) 106 (2) 168

(3) 1610 (4) 1616

Direction (Questions 41-50)
Choose the most appropriate
option among the given four options.

If the following series is written in the
reverse order, which number will be
the fourth to right of the seventh
number from the left?
7,10,2,0,3,7,5,8,9,11,12,6

(1) 10 (2)2

(3)7 (4)5

01.08.2007 is the first Wednesday. The
fourth Saturday of August 2007 is

(1) 17.08.2007
(3) 18.08.2007

(2) 25.08.2007
(4) 24.08.2007
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(1) 16
(3)17

(2) 19
(4) 18
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(1) 9.15 AM
(3)9.05 AM

SlpéeTgmid 4 ST 560 56T
mysgsssT SplusLulld  aflmauns
SjenLsELeUTg) ssmL Fufls
@ uGupsug!
(1) music
(3) mint

(2) 9.25 AM
(4) 10.15 AM

(2) multiple
(4) murder

‘ APPROPRIATE ’sréirp umigengisled
2fp&ay @ Qugi myss!

()R 2) A

3P 4 E
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How many numbers from 1 to 100 are
there such that these are not only
exactly divisible by 4 but also has 4 as

a digit?
(1)8 2)9
(3)6 47

Kavitha is at 25" position from the top
in a class of 42 students Her rank
from the bottom is

(1) 16
(3)17

(2) 19
(4) 18

A bus for Madurai leaves every 30
minutes from a bus stand. An enquiry
clerk told a passenger that the bus had
already left 10 minutes ago and the
next bust will leave at 9.45 AM. The
time of enquiry of the passenger with
the clerk is

(1) 9.15 AM (2) 9.25 AM
(3)9.05 AM (4) 10.15 AM
Arrange the given words in

alphabetical order. One that comes
last is

(1) music
(3) mint

(2) multiple
(4) murder

Which letter occurs most often in the
word ‘APPROPRIATE’?

()R 2)A

3)P (4 E

Which English alphabet letter is eighth
to the left of sixteenth letter from the
right end?

nc
3D

2)B
@E
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(1) MASTER (2) MANTLE

(3) SUMMIT (4) ASSURE

‘SELFRIGHTEOUSNESS’ stsirug s
susolBl(sEG! @ lusswons Smlus)
rpibug, Pan @ ppeer
B EOUSEISASTETEBD TYSSI

(1) E (2) G

(3)H T

aufipsnp (eflsorm sretir. 51-55)
Spésrgmin QUSDTLIL RIS
goflssafiurs 3 2 ' jserlsir
Qamiysmeré Qaeram g. gaGaurms
silesrefiginh Qasmrésiu [HeTsT
Osreiysst gés@d G UL SHamear
everaupiSSISIDG!. SISWETE GHTEwTS.

@@@<P

Bus, Car, Vehicle

Cats, dogs, pets

Lawyers, Doctors, Teachers
Asia, India, Tamilnadu

Human beings, Educated, Employed

388/115~-13

www. TrbTnpsc.com

13

49,

50.

=)

52.

53.

55.

Choose the word which can be formed,

from the letters of the word
‘MEASUREMENT”

(1) MASTER (2) MANTLE

(3) SUMMIT (4) ASSURE

The letter in the word
‘SELFRIGHTEOUSNESS'’ does not

change its position when the letters are
reversed, is
(HE
(3)H

2)G
@T

Direction (Questions 51 — 55 )

The following diagrams shows
some relationship among 3 items. For
each group of elements there
corresponds on diagram (1) or (2) (3)
(4). Select the diagram

CCICh=

Bus, Car, Vehicle

Cats, dogs, pets

Lawyers, Doctors, Teachers
Asia, India, Tamilnadu

Human beings, Educated, Employed

www.Padasalai.Net



[)

|
!

|

56.

57.

58.

59.

60.

Grdnsin-sshaflufia) Qubpsuiast
(PECHTEMD — FETSHMG SMhG el a6
ULLLD — 2 IITLOMET Ui &6

srsirugsnaT GHLNGAMG ereafls)

ULl ‘4” st GSPIG GHOLS
(0 sdaflugiley Quhp e winorsTaurssT
(@) sodaiue; Cupp FETHETET
(3) soafliufe; Quprsasst.

(4) sdallwufiey Qubp FeTSmEs

ST SeUT &6

ssoailiufiey Gupp 2_WITLOmSeT
parSsarsms Gilésin @ile

(1S (2)4

32 43

swafllufle;y Gubp peTSSMUTSMTS
o1 @GS

(1)3&4 2)2&3
31&2 4)1&4
2 wmodp, assoeflule) Gumrs
perggaismer GHUIIGL GHIG
(1)6 (2)s
(3)7 4)4
388/115-14

. www.TrbTrpsc.com
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Direction ( 56-60)
For the given diagrammatic

representations answer the questions
for 56 to 60.

‘Rectangle’ indicates ‘Educated persons’
‘Triangle’ indicates ‘urban people’
*Circle’ indicates ‘Tall persons’

56. The code 4 indicates
(1) Educated tall persons
(2) Urban Educated persons
(3) Non-Educated persons
(4) non-urban Educated persons

37. The urban Educated tall persons
indicated the code
(15 (2) 4
(3)2 (4)3

58. The un-Educated, short urban persons
indicated the code

(16 (2)3
3)5 (4)7
59. Educated urban persons indicated the
codes
(1)3&4 (2)2&3
3HN1&2 4)1&4

60. The urban which are neither tall nor
Educated represented by the code.
(16 ()5
(3)7 (4)4



61.

62.

63.

64.

65.

sufipen (eflsorm sreor. 61-65)
QerésiuGster  EpHamsouiisd

flomésst 61 (pged 65 e

aflsmLiwefléasayb.

(i) A,B,C,D,E,upgb F gyéhwu
peRTURSeT aulLauigafléd FLGTTSHSlh

S| hGISTE ST,

(i) A sretrusui B-&@ suslu&&L0meE
@rstor_md G $Hed yLofsGisTamm.
365 GprHe B gperait C-5@

Grit srlyTa Db isTemm

(iiii) C gysmeut D-&@ GEiF @LULbsLTE
Sjorgieemmi. 241G GprgHle D
ayerauit E-& GEiT srdlmma

(iv) F ersirusuqmid sul L S&leb joimhgiemsT

fHlemeoulsy

Spserggid  eNaTTésEHHE

ulensog Gt GHES@aLD

o flw

B-uppib A-&@ BlmLuflsd SLoifhg B lsTaTaurT
(HC (2)D
)M 4)E

A-&@ G srdlome spofkgisTareurt
(HF (2)E
(3)B @C

A~ Cpit @ ludsth SjifhgisTeameut
(1)B (2)E
(3)F 4)C

D-Sslmkg sLemMolmauis ojmaraim
uoimgeer auflens

(1) DCAEBF (2) DFBEAC

(3) DBFECA (4) DFEACB

E-SeS\ kg Slg &MY s Hlemaiisn

Simeaimd Swikgisrer auflos

(1) ECADFB (2) EBFDCA

(3) EACDFB (4) EDFCAB
388[115-15
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61.

62.

63.

65.

www.Padasalal.Net

Direction (Questions 61-65)

For the given situations, answer

the questions 61-65.

(i) Six friends A, B, C, D, E, F are
sitting around a circular table at a
equal distance from each other.

(ii) A is sitting two places right of B,
who is exactly opposite to C.

(iii) C is on immediate left of D, who is

exactly opposite to E.
(iv) F is also sitting at the table.

The person sitting between B and A is

ncC (2)D

3)M 4 E

The person sitting opposite to A is
(1) F 2)E

(3)B 4C

The person is sitting left of A is
(1)B (2)E

3F 4)C

The clockwise order of sitting the
persons from D is
(1) DCAEBF
(3) DBFECA

(2) DFBEAC
(4) DFEACB

The counter-clock wise order of sitting
the persons from E is

(1) ECADFB (2) EBFDCA

(3) EACDFB (4) EDFCAB



sufigpsop (aflsrm.sredir. 66-71)

Snsarggd olemssEnée sl
GG Lomer eflenL_uflemenr
Campésiu Dsrer 4 oMMy
sl safleflpigl CoiiCsBdanb.

66. A uppd B oufGumi sGargmisst. C
wpg D gy&Cumt slargflsst. A-ullsr
wasir D-uflsir Camgirsir eraeflsh C-5(@ B-sir
218y (LpenD
(0 piieng (2) #Cangisir
@) rsem (@) Aiggiun

67. M eremusuri N-sir #Gasmgii ; B stsorusurt
N- sGargmi ; M steirusurt D-sir sCamgmi
mefls Spsramumania 2 pdurargrs
SjsmLouid 8 pa) (e
() N ersrusurr B-uSlsir sCasmyait
(@) N srsiTusui D-uflsir SCamygT
(3) M srstrueurt B-uflsir Gamysit
(4) D erstrusurt M-uflstr sCamy it

68. A,B,C.D,E, F %ﬂﬂw L sugafled
Rstrg Clametomg & Spise.

D wpgrd C-sir @en_Gw B 2_siremm.

E wpgrd C-sir @eoLGw A 2 siremm.
D-&(& susoiu&sin F o siremm sresflsh

A wpgid F-6@ @ Cw 2_srarsui

1B 2C @D 4) E

69. &mme wewfl 4.00-5@ @ Spsnr
wsmafip@i @enL Cw 2_srer Gamesvom
(1) 120° (2) 60°
3) 90’ (4) 160"

70. 8-m @Eoppsuisd 1 Qussurss
Qarer® 8, 5, 2, 1, 7, 6 géw
Passhissmrd 2 Barssiudn, G
@evéa srarasaflsr srairsnfiSama
(19 (210 311 ()13

71, gatpmd @ SH0 1-mer [Esrss
Qemaon. 3 @eo&s  assefls
6T swT st 6 &5
(1) 100 (2) 90

v TebT A 00 (4)999

388(15—16
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66.

67.

68.

69.

70.

71.
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Direction (Questions 66 -71)

Identify the most appropriate
alternative among the given four
alternatives.

A and B are brothers. C and D are
sisters. A’s son is D’s brother. How is
B related to C ?

(1) Father (2) Brother
(3) Grand Father (4) Uncle

M is brother of N ; B is brother of N ;
M is brother of D. Which of the
following is definitely true?

(1) N is brother of B
(2) N is brother of D
(3) M is the brother of B
(4) D is the brother of M

Six persons A, B, C, D, E, F are
standing in a circular form.

B is between D and C.

A is between E and C.

F is to be right of D.

The person between A and F is

()B 2)C @)D @E

When the time is 4.00 AM the angle
between the hands of the clock is

(1) 120° (2) 60°

(3) 90° (4) 160"

The number of combinations of two
digit numbers having 8 as atleast one
of the digits, from the digits

8,52,1,7,6is
M9 (210 (3) 11 4) 13
The number of 3 digit numbers in
which the digit in the unit place is

always 1 is
(1) 100 (2) 90
(3) 1000 (4) 999
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A wigid B gyl L &EH&EE @ Cw Ty a_a
s -5 -0l @0 Gsm_iy o serg. 9G5 wr Qgm_i
Lopid ﬁ@n@@mmmaﬂmm M. @, @, (@-slm g D-ilsmers; Gﬂmm ;

Direction : (Questions 72 -76) :

There is a relationship b
P between the figures (A) and (B). Th i i
between the figure (C) and one of the options (1), (2), (3) and({zl}}. Chi::ﬂfl: tgil:::;h;g;:;m

(72) A EW

(73)

(74)

368/115-]7
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76) |
| r l i = | ? |
A sl BN ) mipey
el
S
1 2 3 4
anflpeop (@s sradr, 77-80) :
Gerésiu’ L 2 ukisafldr Gsmiédurs D Bnscuramd Duflsmar wrhgsils s (1,
(2 @) @)-flmig CoisREHES.

Direction : (Question 77 — 80) :
Select a figure from the answer figures (1), (2), (3) and (4) which would continue the series

in the place of D.
(7 ;
A B C D
1 2 3 ]
78
e B @ | 9
A B c b
§ || 8§ | B
1 2 3 4
19) FAN A 9
A QO@ B c A D
® O ® O
A A A i
1 2 3 4
(80)
F il b
A B [ D
www. TrbTnpsc.com 1 2 3 4
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aufiwson (eflsem s, 81-88) -
GerBssiu et 4 L_issfid OUrGSSLDD QG L_sdmear Coi0sdss.

Direction : (Questions 81 — 86) :
Choose the figure which is different from others.

| = |
(81) 9 ! CD 1 i2! | NZ .

(82) @ A' N ||:| .

2 g 3
@ T | [ _‘J -
1 2 3 4
84) ~r W | A | AL
1 2 3 4
S [AMA
1 2 3 4

(86)

3¢8/115~19

www. TrbTnpsc.com



www.Padasalai.Net

20

auflpsop (afler stevir. 87-90) :

GarpésiucL wwrerg 0, @ (@) @ HPw vmppeloLsds g6 ugHurs
SIS JFewars CHECSHEs.
Direction : (Questions 87 — 90) :

Given figure followed by four alternatives (1), (2), (3) and (4) such that the given figure is
embedded in one of them. Choose the correct one.

(87) <

(88) %
K

1 2 3 4
(89)

A

DR

1 ) 3 3
(90) X

DO 0O

i 2 3 4
388/15—20
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